




Questions 1 to 20 carry 2 marks each. For each question, four options are 
given. One of them is the correct answer. Make your choice (1, 2, 3 or 4). 
Shade the correct oval (1, 2, 3 or 4) on the Optical Answer Sheet. (40 marks) 

1 Which digit in 9876 is in the thousands place? 

(1) 6
(2) 7
(3) 8
(4) 9

2 Which of the following is the same as 5021?

(1) 50 + 20 + 1
(2) 500 + 20 + 1
(3) 5000 + 20 + 1 
(4) sooo-+ 200 + 1

3 In the number line below, what is the value of X? 

1010 1020 X 

I I I I I I I I I >
(1) 1022
(2) 1024
(3) 1030
(4) 1040

4 Which of the following is an odd number? 

(1) 2641 
(2) 3156
(3) 5792
(4) 6394

5 Find the value of 1000 - 89. 

(1) 911 
(2) 989
(3) 1089
(4) 1911 

1 



6 What is the missing number in the number pattern? 

82 

(1) 12 
(2) 14 
(3) 34 
(4) 44 

70 58 46 ? 22 

7 Which of the following is th  smallest number that can be divided by 5 
with no remainder? 

(1) 5503
(2) 3530
(3) 3350
(4) 2051 

8 The diagram shows Jimmy's bookshelf. Which of the following could 
be the height of Jimmy's bookshelf? 

(1) 1 cm 
(2) 5 cm 
(3) 1. m
(4) 5 ·m 

height 

9 Express 135 minutes in hours and minutes. 

(1) 1 h 35 min 
(2) 2 h ) 5  min 
(3) 2 h 25 min 
(4) 3h15min

10 Find the perimeter of the rectangle shown below. 

(1) 17 cm 
(2) 34 cm 
(3) 64 cm 
(4) 72 cm 

9cm 

8cm 
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